Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

BPCL proposes to appoint Retail Outlet dealers in **HIMACHAL PRADESH STATE**, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *				arranged by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. in Lakhs)	Security Deposit (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH ST, ST CC-1, ST PH OBC, OBC CC-1, OBC PH OPEN, OPEN CC-1, OPEN CC-2, OPEN-PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	Village Baroti on Babkhal to Shahtalai Road	BILASPUR	RURAL	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2	village maira tehsil jawali on mdr80	KANGRA	RURAL	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3	Village Sharan, tehsil Thunag	MANDI	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
4	Village Kuriala on nh 503 A	UNA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	on nh503ext within village behdala	UNA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
6	BETWEEN NALAGARH TO PANJEHRA (LHS) ON NH-105	SOLAN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
7	village bhajnath vpo pragpur on mdr 46	KANGRA	RURAL	110	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
8	Village Nial Tehsil Jawali on mdr 80	KANGRA	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
9	village shawad tehsil anni	KULLU	RURAL	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
10	village hagwal tehsil nurpur on mdr47	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
11	Village Khaltu Nala, Tehsil Kotkhai	SHIMLA	RURAL	45	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
12	village Rasan tehsil Dharamshala on mdr78	KANGRA	RURAL	150	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
13	Larankelo to Naggar on MDR 29	KULLU	RURAL	85	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
14	village sakri tehsil dehragopipur	KANGRA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
15	VILLAGE DHANETA,TEHSIL NADAUN	HAMIRPUR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
16	WITHIN 3 KM OF VILLAGE SANGLA	KINNAUR	RURAL	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
17	village sadwankhas to suliali tehsil nurpur	KANGRA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
18	ON MDR 75 WITHIN 2 KM FROM HP ENTRY TAX BARRIER	SOLAN	RURAL	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
19	Village Kamand, tehsil Mandi	MANDI	RURAL	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
20	village kamla tehsil sihunta distt chamba on mdr 87	СНАМВА	RURAL	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
21	within village naroli on mdr 87	СНАМВА	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
22	ON MDR 19 WITHIN VILLAGE SARAHAN	SHIMLA	RURAL	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
23	Village Kandi Tehsil Bhalai	СНАМВА	RURAL	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
24	from harchakian to 32 mile on mdr 88	KANGRA	RURAL	90	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
25	village bhaterh-II tehsil dehragopipur	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
26	Village Pangna Tehsil Karsog on mdr 21	MANDI	RURAL	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

27	village Prini to village Aleo on MDR 29	KULLU	RURAL	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
28	from lunj to harchakian on mdr 88	KANGRA	RURAL	90	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
29	from ranital to thakur dawara on mdr 88	KANGRA	RURAL	90	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
30	Village Neri Kotla Tehsil Jogindernagar on mdr 79	MANDI	RURAL	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
31	village sakoh tehsil dharamshala	KANGRA	RURAL	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
32	BETWEEN AAKASH HOSPITAL AND CROSS ROAD HOTEL ON NEW NALAGARH BYE PASS ROAD	SOLAN	RURAL	110	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
33	from thakur dwara to lunj on mdr 88	KANGRA	RURAL	90	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
34	Village Hadwal Tehsil Fatehpur on mdr 82	KANGRA	RURAL	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
35	Village Baroh Tehsil Nurpur	KANGRA	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
36	village busal tehsil baroh on ranital to baroh road	KANGRA	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
37	ON DHARAMPUR TO SUBATHU ROAD, WITHIN 6 KMs FROM INTERSECTION OF MDR6 AND NH5	SOLAN	RURAL	130	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
38	Village Gharaun, tehsil Kotli	MANDI	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
39	village bhatoli pakwan on mdr 82	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
40	FROM NARKANDA TO BAGHI ON MDR 54	SHIMLA	RURAL	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
41	Village Kalond Tehsil Palampur on mdr 78	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
42	Village Kaunsal Tehsil Jogindernagar	MANDI	RURAL	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
43	Village Sarol Tehsil Chamba on mdr 85	СНАМВА	RURAL	100	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
44	WITHIN 2 KM FROM SUBATHU MORH ON MDR 75	SOLAN	RURAL	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
45	Village Thathal, tehsil Amb	UNA	RURAL	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
46	Village Andreta Tehsil Panchrukhi on mdr 78	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
47	village samnal tehsil haroli	UNA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
48	VILLAGE PATTA, TEHSIL ARKI, SUB TEHSIL DARLAGHAT, DISTRICT SOLAN	SOLAN	RURAL	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
49	ON MDR 77 WITHIN VILLAGE MAGANPURA, TEHSIL NALAGARH	SOLAN	RURAL	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
50	ON MDR 75 WITHIN VILLAGE UCCHA GAON, TEHSIL ARKI	SOLAN	RURAL	110	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
51	FROM KUFRI TO CHAIL ON MDR 8	SHIMLA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
52	Village Malthehar Tehsil Mandi on mdr 84	MANDI	RURAL	75	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
53	Village Balehar Khas Tehsil Dharamshala on mdr 78	KANGRA	RURAL	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
54	Village Bhawarna Tehsil Palampur on mdr 86	KANGRA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
55	Village Palhoon Tehsil Jogindernagar	MANDI	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
56	Village Ghar Lahr Tehsil Jwalamukhi on mdr 80	KANGRA	RURAL	60	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
57	Village Garodu Tehsil Jogindernagar	MANDI	RURAL	80	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
58	ON MDR 34 WITHIN VILLAGE SAYAR BORAHAR, TEHSIL SADAR	BILASPUR	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
59	Village Hawani Tehsil Mandi on mdr 84	KANGRA	RURAL	65	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
60	on MDR 30 from Charrour Nallah to Pini	KULLU	RURAL	120	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

61	ON MDR 35 WITHIN VILLAGE DHAMROL	HAMIRPUR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
62	FROM VILLAGE JAMTA TO VILLAGE DADAHU ON MDR-1	SIRMAUR	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
63	Village Kataula, tehsil Mandi	MANDI	RURAL	55	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
64	Village Gangal Barari, tehsil Sundernagar	MANDI	RURAL	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
65	FROM VILLAGE CHANDPUR TO VILLAGE BELANA ON MDR 33	BILASPUR	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
66	FROM ANNAPURNA HOTEL TO VARDHMAN CHOWK WITHIN VILLAGE MALKU MAJRA, TEHSIL BADDI	SOLAN	RURAL	90	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
67	Village Kalurkar Tehsil Palampur on mdr 78	KANGRA	RURAL	90	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
68	WITHIN 10 KM FROM RAMSHAHR BUS STAND ON RAMSHAR TO KUNIHAR ROAD	SOLAN	RURAL	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
69	Village Raur Tehsil Nurpur on mdr 82	KANGRA	RURAL	90	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
70	Village Saghnai Tehsil Amb	UNA	RURAL	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
71	Village Ambehra Tehsil Bangana	UNA	RURAL	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
72	Village Tang Tehsil Dharamshala on mdr 78	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
73	ON NOHRADHAR TO RAJGARH ROAD, WITHIN 3 KMS OF SHASHTRI CHOWK NOHRADHAR	SIRMAUR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
74	FROM SHOGI TO TARADEVI ON MDR13	SHIMLA	RURAL	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
75	village parnoh on mdr 78	KANGRA	RURAL	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
76	ON BANGRAN ROAD WITHIN VILLAGE HARIPUR TOHANA, TEHSIL PAONTA SAHIB	SIRMAUR	RURAL	110	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
77	within 2.5 km from veerbhadra chowk towards nangal on mdr 39	UNA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
78	VILLAGE KOTHI ON SUNNI TO LUHRI ROAD (MDR22)	SHIMLA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
79	FROM MAIN CHOWK TOTU TO KAINCHI MORH BHARYAL ON MDR 77	SHIMLA	RURAL	80	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
80	Village Kasbati Bhanjrahdu Tehsil Churah	СНАМВА	RURAL	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
81	village surani tehsil jawalamukhi	KANGRA	RURAL	80	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
82	Village Marwari, tehsil Amb	UNA	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
83	ON MDR 7 WITHIN VILLAGE BURANWALA, TEHSIL BADDI	SOLAN	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
84	FROM ROHRU TO SUNGRI ON MDR 59	SHIMLA	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
85	Village Chhaproh Kalan, tehsil Bangana	UNA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
86	Between Kandaghat to Sadhupul on MDR-8	SOLAN	RURAL	85	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
87	ON MDR 74 WITHIN VILLAGE CHAMBI, TEHSIL CHAOPAL	SHIMLA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
88	Village Pandoga tehsil haroli on Hoshiarpur road	UNA	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
89	WITHIN 2 KMs OF BASANTPUR POST OFFICE ON MDR 76	SHIMLA	RURAL	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

90	VILLAGE RISHIKESH ON VEER BHANDARI ROAD FROM BAGHER TO RISHIKSH, TEHSIL JANDUTTA	BILASPUR	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
91	Village Tanchi Uptehsil Chadiar on mdr 78	KANGRA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
92	Village Pekhu Bela, tehsil Una	UNA	RURAL	90	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
93	village oiri tehsil chachiyot	MANDI	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Village Nagnoli Tehsil Una	UNA	RURAL	75	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	within village triyan on mdr 87	СНАМВА	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	on kangra kachhyari bypass road within village	CHAMBA	KOKAL			DC	20	20	400	12	30	Diaw or Lots	,	7
96	lulehr	KANGRA	RURAL	170	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
97	on NH503ext within Village dhusara	UNA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
98	on NH03 within village kaloha tehsil rakkar	KANGRA	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
99	from KM stone 151 to km stone 160 on nh154	MANDI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
100	FROM KUMHARHATTI TO SOLAN ON NH-5 (LHS)	SOLAN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
101	on NH503A within village hari nagar tehsil bangana PO thana kalan	UNA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
102	Between Theog to Narkanda on NH 5	SHIMLA	REGULAR	180	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
103	From km stone no. 141 to 150 km on nh154	MANDI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
104	FROM KUMHARHATTI TO SOLAN ON NH-5 (RHS)	SOLAN	REGULAR	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
105	from village ghurkari to fortis hospital kangra on RHS of nh 503	KANGRA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
106	NH3, Between Km Stone 360 to 374	MANDI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
107	on nh 503ext within village lower basal	UNA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
108	ON NH205 FROM HP ENTRY TAX BARRIER TO KAINCHI MORH TUNNEL ON RHS	BILASPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
109	Village Panoh (Teh. Una) to Village Bhera (Teh. Amb) on NH 503ext	UNA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
110	BETWEEN NALAGARH TO BADDI (RHS) ON NH- 105	SOLAN	REGULAR	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
111	3 km from Jawalaji bus stand towards nadaun on NH303	KANGRA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
112	FROM BOILEAUGANJ TO GHANAHATTI ON NH- 205	SHIMLA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
113	NH154, Between Km Stone 135 to 140	MANDI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
114	BETWEEN AUCKLAND TUNNEL TO DHALLI BYE PASS CHOWK	SHIMLA	REGULAR	120	OPEN	СС	20	20	400	25	10	Bidding	30	5
115	between km stone 71 and km stone 74 on nh503	KANGRA	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
116	from KM stone 161 to KM stone 170 on nh154	MANDI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
117	Sadarpur (Tehs. Nagrota Bagwan) to Kholi (Tehs. Kangra) on NH 154	KANGRA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
118	BETWEEN KM 280 TO 320 ON NH03	MANDI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
119	on nh503A village tyasar tehsil bangana	UNA	REGULAR	150	OPEN CC 2	DC	20	20	400	25	75	Draw of Lots	15	5

120	village sukahar po dhaliara tehsil dehra on nh 503	KANGRA	REGULAR	150	OBC CC 1	DC	20	20	400	25	75	Draw of Lots	15	4
121	within municipal council Kullu on Left Bank Road	KULLU	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
122	on nh03 within village kamloo po chamukha tehsil rakkar	KANGRA	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
123	ON NH-103 WITHIN VILLAGE HARI TALYANGAR	BILASPUR	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
124	WITHIN 2 KM OF BHOTA CHOWK ON NH103	HAMIRPUR	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
125	village ani to village luhri on nh305	KULLU	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
126	village Banjar to village Jibhi on nh 305	KULLU	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
127	ON TRILOKPUR ROAD WITHIN 2 KM FROM KALA AMB TOLL	SIRMAUR	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
128	on NH154, from mataur to intersection of kangra bypass road and nh 154	KANGRA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
129	ON NH07 WITHIN VILLAGE RAMPUR JATAN, TEHSIL NAHAN	SIRMAUR	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
130	WITHIN 6 KM FROM BATAPUL CHOWK TOWARDS YAMUNANAGAR ON NH-907	SIRMAUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
131	BETWEEN KM STONE 89 TO 92 ON NH7	SIRMAUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
132	Between Parwanoo to Dharampur on NH 5 (RHS)	SOLAN	REGULAR	170	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
133	village Chhaunti Behna tehsil anni nh305	KULLU	REGULAR	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
134	BETWEEN CHAMBAGHAT TO KANDAGHAT ON NH-5 (RHS)	SOLAN	REGULAR	185	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
135	BETWEEN DHALLI TO FAGU ON NH-5	SHIMLA	REGULAR	280	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
136	WITHIN 2 KM OF VILLAGE SPELLO ON NH 5	KINNAUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
137	Within 3 km from Baldwara Govt. Hospital towards Ghumarwin on NH 3	MANDI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
138	BETWEEN CHAMBAGHAT TO KANDAGHAT ON NH-5 (LHS)	SOLAN	REGULAR	185	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
139	FROM NALAGARH TO BADDI (LHS) ON NH-105	SOLAN	REGULAR	305	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
140	ON NH707, WITHIN 5 KM FROM BADRIPUR CHOWK ON SHILAI ROAD	SIRMAUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
141	WINTHIN 3 KM OF VILLAGE AKPA BRIDGE ON NH 5	KINNAUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
142	NH503ext BETWEEN KM STONE No. 36 to 46	UNA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
143	from KM stone 171 to KM stone 180 on NH154	MANDI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
144	ON SOLAN BYE PASS ROAD ON RHS ON NH-5	SOLAN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
145	Village Kyaria on new proposed 4 laned NH205, Tehsil Sri Naina Devi, District Bilaspur	BILASPUR	REGULAR	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
146	Between Parwanoo to Dharampur on NH 5 (LHS)	SOLAN	REGULAR	170	OBC PH	DC	20	20	400	25	75	Draw of Lots	15	4
	l	1	I								I			

147	NH503ext BETWEEN KM STONE No. 1 to 18	UNA	REGULAR	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
148	ON NH07 WITHIN VILLAGE DHAULA KUAN, TEHSIL NAHAN	SIRMAUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
149	FROM THEOG TO GAJERI ON NH-705	SHIMLA	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
150	NH154, Between Km Stone 180 to 205	MANDI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
151	WITHIN 5 KM OF DC OFFICE OF RECKONG PEO	KINNAUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
152	from ranital to dehragopipur on nh 503	KANGRA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
153	ON NH07 WITHIN VILLAGE KOLAR (BETWEEN KM STONE 78 TO 81)	SIRMAUR	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
154	NH503, Between KM Stone No. 36 to 46	UNA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
155	VILLAGE BADSAR ON NH 503A	HAMIRPUR	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
156	on NH503A within village baul tehsil bangana	UNA	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
157	tehsil bhuntar on lhs of nh3 from mandi to kullu	KULLU	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
158	on nh 154 village bhadwar tehsil nurpur	KANGRA	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
159	VILLAGE DOMEHAR ON KOTKHAI TO KHARAPATTHAR ROAD-NH705 (OLD SH10)	SHIMLA	REGULAR	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
160	tehsil bhuntar,on rhs of nh 3 from mandi to kullu	KULLU	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
161	VILLAGE KUMARSAIN ON NH-5	SHIMLA	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
162	within village chamera on nh154A	CHAMBA	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
163	BETWEEN NAUNI TO BRAHMPUKHAR ON NH205	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
164	Between Shoghi to Taradevi on NH-5 (RHS)	SHIMLA	REGULAR	240	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
165	BETWEEN NALAGARH TO PANJEHRA (RHS) ON NH-105	SOLAN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
166	Village Birta on NH503	KANGRA	REGULAR	160	OPEN	CC	20	20	400	25	10	Bidding	30	5
167	ON NH-5 (SOLAN BYE PASS ROAD) ON LHS.	SOLAN	REGULAR	185	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
168	on nh 03 between km stone 250 and 253	MANDI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
169	on nh 503 within daulatpur	KANGRA	REGULAR	150	OBC CC 1	DC	20	20	400	25	75	Draw of Lots	15	4
170	FROM KUMHARHATTI TO SARANAH ON NH-907 A	SOLAN	REGULAR	170	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
171	on nh 503A within village jhalera	UNA	REGULAR	150	OPEN PH	CC	20	20	400	25	10	Bidding	30	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

^{*} The site should either be Owned or on lease with applicant for minimum 19 Years 11 Months or Applicant should have firm offer for the same.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROs	CC	OPEN	10000	Rural ROs	CC	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

State Name	TERRITORY NAME	District Covered	ADDRESS	CONTACT NO.
Ambala	Ambala	All districts	T M (Retail) Ambala, POL Depot, Lalru, Village Alamgir, Post Tiwana, Tehsil Dera Bassi, District Mohali, Punjab-140501	7526851555